In Section 2.3 | did not go over the following
question, which starts:

Page 101 question 9

A motor boat weighs 32,000 Ib and its motor
provides a thrust of 5000lb. Assume that the
water resistance is 100 pounds for each foot
per second of the speed v of the boat. Then

1000 dv/dt = 5000 - 100 v

Then a question is asked about the motor boat.

Do you or your neighbor understand why the
number 32,000 does not appear in this
equation?

a. Yes

b. No
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Section 2.4: Euler’s method A3 S i S RN NN
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Page 114 question 5.
Apply Euler’s method twice to approximate M"M Ve
y=y-x-1, y(0) =1 } 1
on the interval [0,1/2], first with step size T‘lk@ f{\ ’WW\QML 51
h =0.25, then with step size h =0.1 = S‘t)D s 28 h %u
. ]
The actual solution is y =2 + x - e/\x. PM— 'f]k ~ Yn 5‘ e 540 X
\ = 6 ],\/‘_,;..
LQ/f’ = Ka- XA Xn — Yn-| at Xn-1
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Page 114 question 5. ‘\ = O]
Apply Euler’s method twice to approximate

X '=f(x,y) | A True value
y=y-x-1, y(0)=1 Y Y Y
on the interval [0,1/2], first with step size 0 1 0 0 1
h = 0.25, then with step size h =0.1
0.1 1 -0.1 -0.01 0.9948
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05T 0.4 | 9359 | -0.4641 | -0.04641 0.908
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Op TE 0.5 0.8895 0.8513

What is the computed value of y at x =0.2¢

d. -0.21 e. None of the above.



